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I rnapra.n

Crp.2I0 (220,230) Jrucra 2 = crp. zg0 (,300,310) rucra 2 nz 9 Mec.queB npounoro roAa.
Crp'2701280 Iftacra 2 = Crp. 180 - Crp 210 - Crp,240lft.icra 2 (eclu t 0, to crp.270: ec_nn
t). ro crpoxa 2801

C'p 290 (i00. 310; -lHcra 2 : crp 180 (190, 200) Jrucra 2 (.ecnu cpeAHHe roxonbr
noc,regriuli 12 ri,rec. 6olee j nl.irH. B KBapra.n),
Crp.290 llucra 2 : Crp. 300 jlracra 2 + C-rp.3l0 nucra2
Crp. 300,[Hcra 2:Crp. 120 + Crp. 130 + g1O. 140 pa:aela 1 2. Auaucu
Crp.3l0-[ncr.a2:Crp.220 F Crp.230 r- C.rp.?,40par,nena ] 2_. Apancu

I -e nonyrogue

Crp.2l0 122A,230) Jlucla2: crp. i80 (190,200) Ilrrcra 2wzlIO + crpf 290 (300,310) ,rlucra2no
Crp. 270/280 Ilucta 2 : Crp. 180 - Crp. 210 - Crp. 240 JTucra 2 (ecnu > 0, ro crp.270; ecrH {
0, ro crpoxa 280)
crp. 290 (300, 310) rhacra 2: crp. i80 (190,200) Jluc-ra2 - crp. 1g0 (190, 200),rliacra 2 flo
(eclu cpeAHHe noxoAbl 3a rlocreAuwit 12 r,aec. 6olee 3 urn. u nuaprur; Ecru lrenee 0, ro He
3a|ionH.qeTcfl).
Crp. 290,rlllcra 2 = Crp. 300 Ileicra 2 a Crp. 310Ilucra 2
Crp. 300 Jlucra 2: Crp. 120 + Crp. 130 + g1p. 140 pa:aena j.2. Aaaucsr
Crp. 3i0lftacra 2=C-rp.220 + Crp.230 + Crp. 240pasneta 1.2. AaaHcu

9 Mecqqen

Crp,2I0 (220,230) IIuna2: crp. 180 (190, 200) Ilucra2enlIO -1- crp. 290 (300, 310) Ilacra
2 no.
Ctp' 270/280 Ilucra 2 : Crp. I 80 - Crp. 210 - Crp. 240 JIwcra 2 (ecm ) 0, ro crp. 270; ecrrH <
0, ro crpora280)
Crp.290 (300, 310) Ilucra 2: crp. l80 (190,
(ecln cpe4Hue AoxoAbr 3a nocJrenuuit 12 rtec.
:anoruxercr).

200) lTucra2 - c'rp. 180 (190, 200) Ilrlcra 2 flO
, 6oree 3 uls. B KBapran; Eclu uenee 0, ro ne

Crp, 290 llncra 2 = Crp. 300 Ilucra 2 + Crp, 310 Jlucra 2
Crp. 300 llucra 2 = Crp. 120 + Crp. i 30 + Crp. 140 pa:lena I .2. AsaHcrr
crp. 310 rlacra 2 = crp. 220 + crp. 230 + cry. 240 pnrcna 1.2. AsaFrcrr

foa

Crp'210(220,230)Jlncra2=c'rp.180(190,200) Iluc'ra2uzlIO-scrp.2g0(300,310),r1Hcra
2 no.
Crp.2701280 llucra 2 : Crp. 180 - Crp. 210 - Crp. 240 Jlucra2 (ecnu ) 0, ro crp.210; ecrru <
0, ro crporca280)
Crp. 040/050 (070/080) Pa:sena 1.1. Cyuua HaJrora = Crp. 190 (200) Jlucra 2 - crp 220 (2j0t
IIucra2 (ecnu ) 0, ro crp. 040 (070); ecln < 0, ro crpoKa 050 (0g0))
Crp. 290 (300, 310) IIucra 2 - se 3anorrHserc.s!!! panHo 0 (uynro)
Crp. 290 Ilucra 2 = C'rp. 300 Ilacra 2 + Crp.310 Ili.rcra 2
Crp. 300 Jfuqa2 = Crp. 120 + Crp. 130 + Cry. I40 pa:aera 1.2. Anaucrr
Crp. 310 ,Ilncra 2 = Crp. 220 + Crp. 230 + Crp. 240 pu'netta 1.2. AsaHcsr


